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QUESTION 1

Youhave an Autonomous Transaction Processing Database with three OCPUs and auto scaling turned on and your
application is using the TPURGENT service. The load on the database increases from three OCPUs to nine OCPUs.

What is the total number of concurrent statements that the TPURGENT service can support?
A. 900

B. 1800

C. 2700

D. 1500

Correct Answer: C

https://docs.oracle.com/en/cloud/paas/autonomous- database/adbsa/manage-
priorities.html#GUID6E4ADCD27-CDAA-432D-A90B- 485C19EF72BO0 It\\'s 300x the number of OCPUs for TPURGEN

Database Service Name Concurrent Statements
tpurgant 300 = number of OCPUs
QUESTION 2

Which two statements are FALSE about creating a metadata-only clone with a private endpoint network access option?
A. Current settings for ACLs are cloned.

B. Clone can be in a different region.

C. All OML notebooks are cloned.

D. All underlying data for OML notebooks is cloned.

E. All resource management rules are cloned.

Correct Answer: BD

https://docs.oracle.com/en/cloud/paas/autonomous- database/adbsa/autonomous-clone-
notes.html#GUIDF943E7FF-8DEB-47F4-84C0- FFASBAF9D5A9

QUESTION 3
Your customer has upgraded their on premise 11.2 database to 12.2. During this migration the database was migrated

to a pluggable database and is now in production. How should the customer unplug their database to migrate to
Autonomous Database (ADB)?
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A. Pluggable databases cannot be migrated to ADB using plug, unplug or clone.

B. Create a database link from source databaseto the ADB environment and clone the PDB.
C. Unplug to an xml file so database files and xml file can be uploaded to object storage.

D. Unplug into a pdb archive which can be uploaded to object storage.

Correct Answer: A

Since an ADB database hassome restrictions on the object types and Oracle Database Options you need to use a
logical migration method rather than a physical one.

The main migration tool for migrating to ADB is Data Pump. You can export your schemas and import them into ADB
usingData Pump. To sync up the additional/incremental changes on the source database during the export/import
process you can use GoldenGate or GoldenGate Cloud Service to replicate those changes to ADB.

In the current release you cannot use physical migrationmethods like backup/restore, Data Guard, Pluggable/Unplug ,
database clones, and transportable tablespaces to move your existing database to ADB.

QUESTION 4

You have a requirement to create an Autonomous Transaction Processing database that can support at least 200
concurrent statements per OCPU as well as parallelism.

Which service will you need to connect to?
A. TPURGENT

B.TP

C. MEDIUM

D. LOW

Correct Answer: A

tpurgent: The highest priority application connection service for time critical transaction processing operations. This
connectionservice supports manual parallelism.

https://docs.oracle.com/en/cloud/paas/atp-cloud/atpug/connect-predefined.htmI#GUID- 9747539B-
FD4644F1-8FF8-F5AC650F15BE

QUESTION 5

Which two statements are true about Data Insights?

A. You can retrieve previously executed Data Insights searches.

B. Data Insights is available with on-premises deployments of Oracle Database.

C. Data Insights is an additional priced option.
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D. You can search for Data Insights against a base table or business model.

Correct Answer: AD
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